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1. The volume of a certain amount of a gas is 8.80 L at 127 
oC and at pressure

2.00 atm, calculate its volume at27 oC and 3'00 afrn'

a) 6.60 L W c) 3'30 L d)2'64L e)2'2aL

1z (,G", (g*-) €

2. Calculate the density of CO2gas ( in gl L) at 25oC and I '30 atm' Molar mass

ofCoz is4+.@1. ==-

V, P,
T.

a) 2.52 b) 2.70 c) 2'88 d) 2.10

b) 78.6 c) 124

e) 234

d) 144 e) tr?

t, K\ 
\r.r6?$IZqSl

3. A sample of 1.75 g of a vapor occupies 0.559 L at97"C and 0'967 atm'

Calculate the molar mass of the compound'

a) 98.3>- jV o)

cA=in

O1
O= s'.? 6

d+lrer = o,A

o. ct b'T

a) CH4<NO <F2<Cl2

c) CH4<NO <F2<Cl2

e) CIZ <F2< CHa < Ng

Fr ( gJ., ( ctl\

b) F2<NO < Clz< CH4

()crz <F2<No < cH4

P

4. A mixture of 0.260 moles Ozand 0.540 moles N2 has a total pressure of 10'0

atm. Calculate the partial Pressurejtrgz'Lthe mixture'

a) 1.30 arm b) 2.60 atm @ d) 0.980 atm e) 1'95 atm

 Lz "Ph.-.rs._l= \On]r't'u
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5. For the following gases (*':6lar masses):

g; crrzt), E?I6l and N0QP

The order of increasing ry,teg[gtfi5ls! is: 'z

{c>-

c rt (



6. According to kinetic molecular theory, which of the following statements is

correct?

a) The volume occupied by an ideal gas particles cannot be neglected. <

C-fr)T\epressure of the gas is due to the collisions of the gas particles wittr the
\ s 

walls of the container. r
c) Ideal gas particles repel each other, but do not attract each another. I
d) At sarne temperature gases with larger molar masses have lower average

kinetic energies. {

7. A gas is allowed to expanded from an initial volume of 2.00 L to a final

volume of 11.00 L ,rrdo a constant external pressure of 2.00 atn. The value

ofworkrwris;
@- r.gz *' ro1 I b) - 5.79 x 103 J Q -2.74x 103 J

d) - 3.65 x 103 J e) - 4.56x 103 J

DV--q bus = -Pl"v ']

8. Which one of the following reactions has $ equals to AE?
DV=9

a) HzO(| -' H2O(8) K e{ Pn"/

b) CaCO:(s) * CaO(s) + CO2kr) ^
c) H:(s) + 11202(6,) * H2O(f)

0 CH4G) + 2A2@) -- CO2G) + ztta0(l)

QJtxe) 
+ Brds) * 2FIBr(B)

g. 50.0 mL of 0.500 M HCI at 25.0"C is added to 50.0 mL of 0.500 M NaOH at

Z1.A"C in a coffee cup calorimeter, the temperature of the mixture rises to

28.1oC. What is AH of neutralization Per mole Hegplp4gqed? Assume the

mixture has a specific heat of 4.18 Jlg'"C and aileffi of 1.00 glrnL .

Assume the calorimeter to have zero heat capacrty.

Dr'-- a

a) -54 kJ/mol
d) - 55 kJlmol

Fl ct * Mc-.rtl-D H>-
E- *\ .,1 n: tr r O25
o'b - ---
zb

q.r%)(l.".'1 1?'tl
-=--z\,

b) -57 kJ/mol
e) - 59 kJ/mol

t nf.cl

c) - 52 kJ/mol

Q rts t ^X A"
e7,W m

F.'a1l ,:i)(a.t)
= \ tL q9r. ? tr-ote

Q,r.Ln'- -f'tq9EtrJ
bll: -t.zeEe
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/ti)** the fellorning data to aalculate the standard enthalpy of formation' AHol '

%'ffi;ts;*i*g{oxide,I\dno2(s),is'k{msl' = Ar'lg

- a) 71.4 nm b) 32'6 nm c) 98'4 nm d) 51'7 nm e) 41'7 nm

1=9 --Ql{\.,%) b\.-f

13. Calculate the wavelength of the wave associated with a proton

(mass:1.;;10-'; il;;;i"* * a speed of 2'60 x 103 m/s

a)0.426nmb)0.209nm"@*d)0.137nme)0.180nm

Av tr#;;"2(L6x\J,

NO(e) + Ork) * Nozk) + oz@),

OrG) + 1.5Ozk),
Ozk) --+ 2o(B).

Calculatetheenthalpychangeforthereaction:No(g)+o(g)*NozG)

a) -302.1kJ/mol
d) -308.1 kJ/mol

(A-ta4.1 kJ1mol c) -306.1 kJ/mol

e) -300.1 kJ/mol

12. What is the wavelength of a photon of elebtromagnetic radiation whose
-- 

fr.qr.rr.Y is 5.80x10"H2'

NI: -198.9 kJ/ mol

N:I:'142.3 kJ lmol
N{ = + 495.0 kJ /mol

2MnO2G)*2MnO(s)+OzG)
Mnoz(s) + Mn(s) -- 2\{no(s)

/-trt
yP< .. stu -f) 

n64^$t
*,..-31 *t:--y-n''*l

Mn t cr.!- .-D {nu Q-

N{=+264kJlmol
lJI: -}4lKJlmol

b) -s12 c) -508 d) -s16 e) *527

c lbu
n \/\1



14. Calcufry.tte rtgqYeqcy (in FIz) of the electromagnetic radiation emitted

by the hydfrgen atom ln undergoing a transition from the n: 7 level to

the n: 3 level.

a) Z.Z4xlg'o b) 7.64xl0ta c) 1.60x1010 a) 2.34xl0ta e) 2.98x1014

15. Which one of the following sets of quantum numbers is not acceptable?

/
mr=*rlz
*.: - t 

1.,

*r: +'i,
mr: *llz
mr= -l/z

![A n.A vtA vlA

a) n:3, l:2,
b) n:3 , l:1 ,

fflr: -2 ,

th: *l ,

ffll: *l ,

rflt: A )

rfu:0,

16. TVhich of the following is the correct electronic configuration of Ga (Z:31)?

a) ta$ld'o 4p' @g,4s2 
3dro4pr ") Ms2 4pr4d'o

0 t(r 4s2 3d1o4pr e) [rffi +r'3dro 4pr
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